The macro with trigger specification was ran over files on NFS. Here are some plots with specific cuts. 

Number of events processed: 54603

1. No Cuts:
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SiHitsK>0&&siHitsPi>0&&NTotPr<100
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SiHits>0&&NTracks<100&&QGlK*QGlPi<0
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4. SiHits>0,NTracks<100,pTK>0.3,pTPi>0.3, |cos(theta*)|<0.6,|nSigmaK|<2,|nSigmaPi|<2
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5. SiHits>0,NTracks<100,pTK>0.3,pTPi>0.3, |cos(theta*)|<0.6,|nSigmaK|<2,|nSigmaPi|<2&&abs(eta)<1.85
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6. SiHits>0, NTracks<100,pTK>0.3,pTPi>0.3, |cos(theta*)|<0.6,|nSigmaK|<2,|nSigmaPi|<2&&abs(eta)<1.85, decayXY<0.5
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Victor’s correction:
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S/N ~ 2.7383
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S/N ~ 3.3236





S/N ~ 3.5945





The Signal increases as we use the specific trigger Ids. An earlier run over the same file List with same default cuts gave S/N ~ 3. 4539 for a similar plot on left.(slightly lower compared to the trigger specified version)








